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(1) (BWEHF) Ulez)2Ulyz) Yy(EFo)

2) (%) Ulyz)=Ulez) 20 U@y >Ulyy) y#2
(3.15)
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(1) (&) Ule,z)2Uly,z) Yy(#z) (3.14)

(2) (&E%EM) Uy x)=Ulz,z) 26 Ule,y) > Uly,y) y#x
(3.15)
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(1—€)U(X,X)+€U(X,y) > (1—€)U(y,X) +€U(y'y)
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U, x)—U(y,x) =0
U(x,x) = xU(el x) + (1 —x)U(ez 1—x)

(v —¢)x
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+ v(1 — x)

(v — )y

= X
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UG, x)—Ux,y)=—-y)(—cx+Vv)/2=0
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X =—- Uly,x) —U(,y) =0
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i 3 Sa (1)1 8R4 — L (a>0,8>0)

H R
Sy : ; 0| (2)¥B# 4 —Ls(a<0,B<0)
s | U, 7| IREEEY —A(eB<o)

BINTENDT —LTEILHIZKEGHERE(E ?
(1): NES={eq,e,,x} - ESS = {eq, e,}

(2): NES={x} - ESS = {x}

(3)(i)a<0,B>0M &E : NES={e,} - ESS = {e,}
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x;(t) =N;(t)/N,i=12 &

EAG=1{A;:1<i<NJ]

S1 52
B o O
! c
0 a b
b o
e ¢ d

EARDEN;, i = 1,2(N,(t) + Np(t) = N)

DEBEE T x(t) = (x1(1), x5 (1))

FFLERES (e), i = L2&BIRT ZEARDOIAFFIBU(e;, x(1)),i = 1,2

SHEART—AHEYDFHHE
2

U(z(t), z(t) = Z z: (1)U (e, z(2)) (3.32)
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EEROFEHFGEEOEEEIZEEFILTEMT S

Bt + HITHEVOTERES, () ZEBIRTHAEARDENSX;(t+ 1)
BEERIIEL D) —3 3 A F2ORX

| Ule;, x(t) _
zi(t+1) = {U{ﬂ:{fj mt;}l}}x{rj 1=1,2 (3.33)

EX)T /N5 A—Ha=d=0(+B#H~T —L\)
Uley,z) =b(1—2z), Ulez,xz)=czx (3.34)
Uz, x) = zU(e1,z) + (1 — 2)U(ez, ) = (b+c)a(l — z)

p(t+1)=b/(b+e) =0, z(t+1)=c/(b+c)=1-0  (3.35)
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Az;(t) = zi(t+ 1) — @(t) = {U(Eméf()i(;)ﬁzg? =(t)) } z;(t) (3.36)

i,', (t) = {U(Ei, iﬂ) == U(iﬂ,m) }:‘E,;(f}) 1= 1, 2 (3.38)

BRI SFTHRAVTERICSFHE

U(ei,z) = ax + b(1 — ), Uleg,z) =cx+d(1 — ) (3.44)
U(z,z) = zU(e1,e) + (1 — 2)U(ez, )

Uley,z) —U(z,z) = (1—-z){U(e1,z) — Ulez, )}
(1—z){(a+d—-b—c)z+d— b} (3.49)

t(t)={(a+d—b—c)z(t) +d— b}l —z(t)}z(t) (3.46)

2(t) = {(a+ B)z(t) — Bra(t){l — z(t)} (3.47)
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#(t) = {(a + B)a(t) - B}z (®){1 - z(t)) (3.47)
z(t) = (o + G){=z(t) — O}x(t){1 — 2(t) } (3.48)
Sy < > 51
B35S — L =0 : =5
) B>O (2RS,) o) GE—b (£ES)
WAEET — LA =0 ___i z=1
a<0,p<0 PR (b) HEEY—L RS
WL —L #=0 z=1
(£ES,) (2HS)

a<0,B>0 (c] PL¥v¥—L
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(a) M (MEERONT £me, | (b)) EREoRBHE | £mEc, )
B e g = B o 5 | o,
Ao yOE—ly@) 228 O ()
s 5 apg . cg s, y g ) 0
RHGy . X ba dp . A 0 Ba
21—x(t) - da E1-x(t) - Ba
i(t) = {Ualer,y) = Ua(z, y)}z(t)
= {(aa + Ba)y(t) — Balo(t){1 — =()} (3.54)

u(t) = {Usler, =) — Uplz,y)}u(t)

= {(as + Bs)x(t) - Be}u(t){1 - y(t)}

(3.57)
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£(t) = (o + Bay(t) — Oatax(t){1 — =z(t)}
Y(t) = (ap + Fpz(t) — 05 fy(t){1 —y(t)}

HZERBICE>TROFEZTRIRT D
TEFMFFIHEHERADOVIETINEEETITHSE

DL TVT—R2EAF3IHR

04 = Ba/(aq + Ba)

(3.58)

)

(

(aq + Ba)(y — 04)(1 — 2x)
(ap + Bp)y(1—y)

(ag + Ba)x(1—x)
(ap + pp)(x — 65)(1 — 2y)

)

W S (X(x,y) = (0,0),(1,1),(1,0),(0,1), (65, 6,)

TEMNEDMIINTA—ZRE !
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0p = Pg/(ap + Bg)
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